E’%l Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
1,221 x 10 = 4,439 x 100 =
2,617 % 100 = 4,323 x 1000000 =
6,151 x 100000 = 3,566 x 1000 =
4,377 x 100 = 4,782 x 1000000 =
5,991 x 10 = 5,141 x 100 =
2, 602 x 100000 = 7,789 x 1000000 =
2,085 x 100 = 5,679 x 1000 =
9, 113 x 10000 = 9,013 x 10000 =
9,632 x 10000 = 10, 519 x 1000 =
2,187 x 10 = 9,685 x 100 =
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%I Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:

1,221 x 10 =12.21 4,439 x 100 = 443.9

2,617 %100 =261.7 4,323 x 1000000 = 4323000
6, 151 x 100000 = 615100 3,566 x 1000 = 3566

4,377 x 100 = 437.7 4,782 x 1000000 = 4782000
5,991 x 10 =59.91 5,141 x 100 = 514.1

2,602 x 100000 = 260200 7,789 x 1000000 = 7789000
2,085 x 100 = 208.5 5,679 x 1000 = 5679

9, 113 x 10000 = 91130 9,013 x 10000 = 90130
9,632 x 10000 = 96320 10,519 x 1000 = 10519
2,187 x 10 =21.87 9,685 x 100 = 968.5
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